Question: when is C¥/A, g =29 4 prj alg. man. ?

=1 oK.

%EX.: Q;Jc"(X), AQ/Q)'(X)J X roj. Smooth man..

H'(X)=0 = AL () =B (X) =0.

Ex.:in Bc?(PY)=0.

Riemann's condition : (]:%//\) 70@@/\=23 IS d roj, alg mian. <>

<> 3 3 positive Je{ \\ermitian form Hh
on C¥ st Jom hypp is integral.

% =1: Nezorz, bmt>0, ©: ‘%: g%(m"t)wor(mim&)
(@ +1)=O &) T

Caleulation: @x+NT)= 2N MiN*T —2MiNT) O(R).
O, 0 (B) = 2 (Mio? T+27mi 0 2) O(F+at+ D).

Fix N1 and et \f =vector space over € sramecl BS @, 0
Where o, range over §0, 40, tbdo L) L;/'%
Lemma: ie $€V\\ {0} then § has N* zeros in the Fara\lelo%rim P

with vertices ar O,N, NT, N+NT. 5
Proos: #Zeroszz,‘,?j Ydz. ng
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v B 7 D 7 /W N.
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B @R+V) Q@) = QUIIN) = Q) =>

Qr+N) QR

:>S g/da» =0.
B+d S

@2 +NT) = X (-N* L T) DX (-2ni NR)QR) =>
_—_->@:J(3+NT)=ﬂ)cr(-N23tLT)(—2nw (-21iN B) @ (&)+
+ C2mNRIOR) =
= @R+NT) = —ominN + OU) =
@ R+NT) @LR)

9% =N. O

guF To orieéntdtion

= g
A+C
Thm.: pick N>, and an or'cler‘in% (Q&,Q\ré\)%:t..,)Nz ¢or the
elements os {O,i,\-,,.-.,ﬂ:i§x{o)‘,)--., Mﬂf.Tken
AP oNE— N NZLLIN :
CNA—P IS an embeclc‘mg.
RH—> E®°’*sqﬂ(&): Sk @QNV.’QJ'M'L(&)]
Proor (sketch): @is well des. : @ (R4N)= @a,q (R) ok.

Oa,g BRENT) = e (-iN* T -2t iNB) Oy g (R).
Suppose 3 B, # 2! in C/NA Sz, '0(2) = V(R &=
< §(®)=§(R}) VieW. Then,kj rraslations o
2@ T7,. We ket ather pairs of such points, (&, BS).
JISTinct4\ SMCQ VN 1’\33 dimensiom NL) we can -F'm(l 3 Set of
FTS {%4,..., Rye_q) By, R,% and 0#5€Vy S § vaniches
3T &yyy Aty = also at 21, 3’2::> N1 zeroas, contradictrion.[J





